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BEEK 1HAE2IBEA FEL 1%
IREHEBEIR 380Vac+10% , S0Hz 1%
BELE 0V~700V 3%
SIEIERTR 0~+500A 5%
FEEER 0~=1000A 5%
EE-SEE >160kW 10%
EWE-EE >320kW 10%
R <0.1%FS 15% | 50%

EBTTEE <0.1%FS 15%
BIERERE <Ims 5%
HERICRI/IVEER <10ms 5%

EBit EFHETTE] (0%-90% ) <5ms 5%
2T FNPERTIE] ( 0%-90% ) <5ms 5%
FIESIEIERTE] ( -100%~+100% ) <10ms 10%
BIEHBRE RS ERATE <5ms 5%
BTiETRE <100ms 5%
DRSNS <50ms 10%
REITHE 252 10%
REEEEMEIRE 2 10%
BMS-CANJEF, X 10%
EIYREETREL >9999 5%
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AR >999 5% 5%

TIFAERESR 0~40°C 5%
IS TXT/EXCEL/CSV 5%
=AM H = 5%
ESESHESK >10m 5%
[ErSz=ht <1mA 5%
DBCMHESN\RDBCENRIE Zes 10%
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=0 Yozt 5%
BT/ IS 22 3.5%
1EEFE/FLES X5 3.5%
EREERE X 3.5%
(EES ) 2 3.5%
1EBEFE/HREE bz 3.5%
ESithiRil e X 4.0%
TRERE Sz 3.5%
B FE/5RES, bz 3.5%
B3RP ER X 3.5%
B ERHEK XI5 3.5%
B AR = 3.5%
TR X 3.5%
DRSNS 35 3.5%

IREER R B XiF 3.5% 8%

iy X 3.5%
HETHIET 35 3.5%
SET ST X5 3.5%
i >iF 3.5%
LIBMS_CANfEEBkE. &Lk XiF 3.5%
IxER 5 3.5%
BESFHRE X5 3.5%
EER F 3.5%
HIBICRRBMSERIER A% 3 3.5%
ZBERSME =55 3.5%
M@Tﬂigmmum e 1%
FFRUEECANESHMY < 6.0%
SRS ERNETESE bZes 6.0%
SEBEREFP b2 5%
SEBETERP X 5%
NS X5 5%
BMSERRERIF bZ=s 6%
BMSE{RTERIF X 6%
BMSE{RTIRRF bz 5%
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BMS&ERESIENIS TR 3 10%
RMERIERR b2 5%
v FERE (R % 5% oo
HTES{RIF = 5%
BT e SRR =5 5%
juESiSa 5 5%
[EIFRESFE R bZes 5%
FERS R 523 5%
ERAUBRAETRT ( E3BRFENL ) 5 7%
aV/A/TIRFISAF Gz 6%
EB[E. EBUmEENRIR XI5 5%
. BE. IBEBEFRP bz 5%
SEBE X 10%
BEER X5 10%
B8 bz 10%
it 523 10%
) =AY = 8%
?Egﬁ EIFREL X 10% 4%
YRR E XFF 8%
BIRER XiF 8%
DCPIFE 2 8%
AREAT 2 8%
BMS&% XI5 10%
=pC] 2 8%
B8 bz 8%
SEE bz 8%
SEBTR X 8%
Ih=E XFF 8%
— B bz 8%
W= 22hity XFF 8% 4%
DCHpE bz 5%
TEFREL X 5%
plljEy:iiEsS bz 4%
TEIREE X 10%
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RFiIgEE bz 10%

BMSS#FFayik bz 10%

ENIIPSR P32 5%

REBORERE <2%0FSR 20%

R RULekE s 5%

lEEA TEERE 5%
BEER B <70DB 10% | 156,
R BT, THL. Ba—=r o ?

REERT ;x 5%

BE<2100mm
RIEK (WEE ) KRE<2500mm 50%
FE<1500mm

EEAX ( 2IRERE) 2 60%
i 2R (@@%;ﬁ%&ﬁﬁﬁﬁ+@ﬂ . - e

ZREED 2 10%

REAR 25 EA D 20%

IRHRE=ARERS XiF 25%
“z = 24hIRIIEIRRRIRTT o ¥
EERS ==l  48hET 25% 6%

aEz SN REISLIR=RY 30%
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